Science most important questions — SET 6

1. Blood and bones are examples of.............. JIad IR 6‘5}%’&? ............ & EEREN %I
(a) Connective tissue /FITST Fde

(b) Epithelial tissue /39ehell 3dch

(c) Meristematic tissue /ARECARS Fd+

(d) Nerve tissue/dT¥eT S
RRB Group-D 03-12-2018 (Shift-1I)
e Tendons, ligaments, compact bones, cartilage and blood are examples of connective tissue that
support, connect or separate different types of tissues and organs in the animal body.

o HUST, TGS, el §378dl, SUMEY 3N o TS Fcdsh & 3am0T & oif I eRR &
faffiest 9R & Fdet 3R 390 T TERT & &, AT § I1 376097 A L

2. An object is placed at a distance of 20 cm in front of a convex mirror of radius of curvature 30cm. Find the
position and nature of the image.

Teh ] T 30 QAT T TISAT & ITel GUOT & FTHeT 20 FAT T g 9T 1@ 917 § | wiafeie & feufa 3k
YRl T IcAT ST |

a) 50cm

b) 1.25cm

c) 5.25cm
d) 8.57cm

Ans. Here, object distance, u = - 20 c¢m, radius of curvature, R = 30 cm, image distance, v =?
1.1 1 2

As Sp-=2=2
v u f R
12 1
v R u
1 2 1 4+3 7
===
v 30 20 60 60
60
V:7:8.57

As v is positive, image is at the back of the mirror. It must be virtual and erect. aﬁ: v = HhRIcHSD %’,

fafds guor & S §1Te 3 AR Ar g aifge

Sign convention for Mirrors

Positive
Negative +——Mirror — Positive

Negative Negative

Positive Negative Positive

T Positive I Positive
cl F p l P F C
Negative Negative

Concave Mirror Convex Mirror
Focal length of Focal length of
concave mirror is convex mirror is
always Negative always Positive

3. Who discovered the word 'atom'? /'CR?:TTUI orsg Y @S foraa
(a) Dalton /STece
(b) Kanad /&hUTlq
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(¢) Lavoisier/sTatorax

(d) Democritus /3AfoheH
RRB Group-D 31-10-2018 (Shift-1)
e  Greek philosopher Democritus first used the word 'atom'. Which means that it cannot be broken. In nuclear
chemistry, there is small part of an element that can participate in any chemical reaction but cannotremain
in an free state. Atoms are made up of protons,
e neutrons and electrons. The size of atoms is very small and mass is very small.

o A RIS SHhcH T Tgel "IRATU] se; FHT YA FhAT 2AT| ATeAr foh 38 AT LT ST Hehel,
ORATY] TH TaaTel &, Tl dea &t Ueh BleT A1 REAT 81T § St fehdlt ot Tremrarfoten gfcifshar & s
o HehclT § elfehel FaciT €T H 7T 1§ Hehdll § | TRATI] el & a4 It &,

o Tggiel 3R AT, THATUS T ITHR TGl ST 3R GeFAT ggcl ST gl ¢

4o e is the largest group of animals./................ SATeTaRt T T&d 37 S gl
(a) Nematoda /=THTEIST

(b) Arthropoda /3TifareT

(c) Annelida /Tsiferar

(d) Mollusca/HTeTEhT
RRB Group-D 30-10-2018 (Shift-111)
RRB Group-D 09-10-2018 (Shift-1)
RRB Group-D 24-09-2018 (Shift-11)
RRB Group-D 08-10-2018 (Shift-111
e Arthropoda is the largest group of animals. Arthropoda is an invertebrate animal that makes up the phylum
Arthropoda, which includes insects, arachnids, myriapods, and crustaceans. More than two-thirds of all
named species on Earth are arthropods.

o 3IMTYTTIST TR T A TST HeAE & | ITUTAIST Teh 37ehAeeht SATeTer & i IS H &=rdr &, foraet
13, 3RS, ArafErds 3R FEe R afda € gedt ) a3 fad yenfaat f Far-fes &
T 3mYfarsT &1

5. In which of the following types of reproduction, adult microorganisms separate from parent body and

become a new individual?/fFfaf@d & & fFT &R & Yol H, TIEH H\&?Gﬁ'q’ Hqel R AT &l
STa & 3R v Tar SAfFa 9 S &2

(a) Fission /fa@seT

(b) Multiple fission/TehITeIe fa@sT

(c) Regeneration /gﬂéﬂ?f

(d) Budding/af3ar

RRB Group-D 03-10-2018 (Shifi-II)
RRB Group-D 05-12-2018 (Shift-II)
RRB Group-D 05-11-2018 (Shift-1I1)
¢ Budding is an asexual mode of producing new organisms.
o In this process, a new organism is developed from a small part of the parent’s body. A bud which is formed
detaches to develop into a new organism
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o SIAICUTGH AT SaT & ScUTGe T Ueh 3ol AT 1 57 UTshaT &, ATA-UAT F R K TH B T
X0 A U 737 g [aan A 81ar 1 ST Fell STl § I8 37cl9T 81T Ueh U Siid & A fad 8T &1

e Bacteria, yeast, corals, flatworms, Jellyfish and sea anemones are some animal species which reproduce
through budding.

o SFIRTT, AR, FRA, Feledd, STThr IR FHLT TAHAT FH© I TSIMcdT ¢ S Hiclerel &
HTEIH T Folelel Al & |

Budding in Yeast

Parent Cytoplasm

Forming H —
yeast cell of bud dividies O
Ta

——Budwith |
N\ . nucleus 7 4

O
IL Daughter yeast

) { \ ) ; "‘-l Chain of yeast
Nucleus —— | [ | { i f | Cells formed
| ] ' | J y

\_ = Parent yeast

6. An echo is heard in 3 s. What is the distance of the reflecting surface from the source, given that the speed

of sound is 342 ms?/ 3 Ahs H Wmaﬁﬂﬂ'léa?ﬁ gl @HQ}IWHHE'@@ FT 8, TE

cad g f& eafer fr a1fad 342 ms-18?
a) 410m.
b) 513 m.
c) 713m.
d) 2I3m
Speed of sound (v) = 342 ms™!
Echo returns in time (t) =3 s
Distance travelled by sound =vxt=342x3=1026 m
In the given interval of time, sound must travel a distance which is twice the distance of reflecting surface
and source.
Therefore, the distance of reflecting surface from the source =1026/2 = 513 m.

7. Which element has two electrons in its outermost shell? /fh& Tca & T ST HIA H & Folaclel
g &2
(a) Potassium /9T IS
(b) Lithium /fafgs
(c) Calcium /FTo=IH
(d) Sodium /aIf3T#
RRB Group-D 07-12-2018 (Shift-1)
e Potassium (19)- 2,8,8,1
e Sodium (11)-2,8,1
e Lithium (3) - 2,1
e (Calcium (20) -2,8,8,2

8. If 1 kg The alloy contains 32% copper, 70% zinc and the remaining nickel, then what will be the amount of
copper in the alloy?

Ife; 1 TRl TATd & 329 ofisT, 70% ST 3R AV foeher &Y, ot FRSMEnq & oiel s A o g1

shiprachauhan@class24



Science most important questions — SET 6

(a) 280 grams
(b) 400 grams
(c) 240 grams
(d) 320 grams
RRB Group-D 18-09-2018 (Shift-111)

e Copper (Cu) —32%

e Zinc (Zn) —40%

e Remaining nickel —28%

"

Hence the quantity of copper = 1000 x% =320g

o
9. In the fane flotation method, the ore powder is kept in a tank filled with mixture.............. ? thel TeldeTeiierdr
fafer a1, 3raes ar3sT a0 & m EF A @ smarg?

(a) Water and aluminium /91=iT 3R Uﬁlﬁﬁ'ﬂﬂ

(b) Water and pine oil /97T IR U der

(¢) Copper and water /areT 3R gr=ir

(d) Water and vegetable oil /ATt 3R F=e9fa el

RRB Group-D 12-11-2018 (Shift-IIT)
o In the foarth flotation method, the ore powder is kept in a tank filled with a mixture of water and pine oil.
o In this method, the sulphide particles get soaked in oil while the soil gets collected in the bottom.

o I Tolaet [afer 7, 319%eh 3T Y Irair 3R urseT dol & AT T R R A @ Arar gl
o 30 T 7 TewISS o FHUT ol H TG AT & STdTeh [HCCT dloll 3 TehfAd gl Sal g |

10. When the angle between two plane mirrors is 300, how many multiple images will be formed by the
mirrors?
STeT &Y T cTel gUUTT & ST T HI0T 300 &Y, A GO & vy g Tfafere qoiar

a) 10

b) 9

c) 8

d 11

Formulatobeused: n= %Oo - 1, where 0 is the angle between the mirrors.,
Here, the angle between two mirrors is 6 =40°.

So, number of images formed is n= 336—(:): -1=11

11. A 40 kg girl quickly climbs up the stairs to 5m height in 4 sec, what will be the power developed by her?
40 TorarT & Ueh TS 4 Qehg A 5 AT 1 FA1S T ot A WA Tl §, 38 canT [ash T afera &=

grafr

(a) 500W

(b) 200W

(c) 2000W

(d) 100W

W =mgh (here m=40kg, g =10m/sec2 and h=5m)
W =40 x10x5=400 x 5=2000
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W =2000 Joule
t=4s
W =P/t =2000/4 = 500 watt

12. A metal is exposed to the atmosphere for some time. It becomes coated with green carbonate. The metal
must be

T U1 H FO AT & AT aAeaRor & G A W@ A1 g1 FER gRA FHrefeie H 3aR0T 76
ST 81 I8 o1 § -

a) silver/ Tar

b) copper/ dTaT

c) aluminium/Uﬂ?ﬂﬁ'ﬂF

d) zinc/ STEAT

Sol-
When the metal is left exposed to the atmosphere for some time becomes coated with green basic carbonate.
The reaction is as follows:

SIS 7] Y S THY & TNV ATATaROT & Th H NS AT ST & @l 83 1T & FeA Hleieic o 1Y AT g1
Srar g1 wfafshar sa v &

CuCO:.Cu{CH)2
2Cu+CO-H-O-0- — ,
Basic copper carbonate

13. Dictyosomes are -/I3fFcaraia g -
a) Respiratory particles /2d8d] 0T
b) Liver cells /Wﬁaﬁmﬁ
¢) Golgi bodies /3Meal T

d) Related to protein synthesis /ATENST TLAYOT & Fa T

Sol-

o Dictyosomes are net-like flat, membrane-bound cavity structures called cisternae which comprise
the Golgi apparatus.

e Proteins are stored in the dictyosomes for further transport, modified, sorted, and packed into

vesicles.

o TEfFcaras se S qure, Bred & ati 8T =T ¢ [Sieg [aeest sgl Sirar & fores aileal o
AT BT B |

o TIEIST T 3TN oh UREge, TN, Sheraeer iR ieshi3il 7 U ohiel o foIv fSerereter & Fardial
ERISIGI
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Golgi Apparatus

Incoming
transport vesicles Cis face

;’(
-
Lumen /
M _ Cisternae

Newly
o A, r‘ — 7(‘/
vesicle N )
A . \
A g ) y
s

Secretory
vesicle

Trans face w

14. Which vitamin deficiency causes cracking of lips at the corners of a human patient?
fora TaeTf@er &1 el & el & gl & il H SN 93 AT 82

Vitamin A /f[AeifAaT T

Vitamin B-2 /faerfae &1-2

Vitamin C /faerf@e @r

Vitamin D /faerfHeT 8

oo w»

Sol-
e Chapped lips are a common symptom of deficiencies, especially in folate (vitamin B9), riboflavin (vitamin
B2), and vitamins B6 and B12 (11,12 ,13, 14).

o e gie, AN T & wiele (faerf@s Y 9), Tsairaiaa (ferf@a &Y 2), ik fgerf@a &6 i 12 (11,
12, 13, 14) &Y Ft T U ATAT 18707 § |

15. What is the expected molecular mass of sulphur dioxide (SO2)?
e STS3TFATSS (SO2) & 3ATATd Ui GedHTT FT8?
(a) 6.4u
(b)6.5u
(c)64u
(d)75u

e  Sulphur dioxide — SO2

e  Atomic mass of S =32

e Atomic mass of O =16

o SO02=32+16%x2=32+32=64u

16. The velocity of a car increases uniformly from 18 kmhr-1 to 72 kmhr-1 in 10 s. Calculate the acceleration
of the car.

Teh X T 39T 10 Fohs & 18 Felt ufey g & 72 el ufay € T A §9 & 95T &1 FR & caloT
IOTAT Y|

(a) 1.5 ms-2

(b) 15 ms-2

(c) 1.5 ms2

(d) 15 ms-1
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h
\ A lSkmhr" = ISXE =S5m/s,

5
vo=72kmhr' = 72x E =20m/s

Acceleration = change in velocity/time interval

v,-v, 20-5 15
At

=—=15m/s
10 10

17. Hamburger effect is otherwise known as
AR TG I 31T &I H SATAT ST & -

A. Sodium pump/ SIS 99

B. Anaerobic metabolism/ AT TATIIY
C. Chloride shift/ FRTSs TRadT
D

. Respiratory product/ ¥d8s1 3cTc

Chloride shift (also known as the Hamburger phenomenon or lineas phenomenon, named after Hartog

Jakob Hamburger) is a process that occurs in a cardiovascular system and refers to the exchange of
bicarbonate (HCO3-) and chloride (Cl-) across the membrane of red blood cells (RBCs).

o  FaRTSS AT (BTefer S R F ATH IR EATIR TTAT AT ATSAH ST o &9 3 3 ST ST 8)
Teh YfshalT § it hifSatatehort FTeH & gl & 3R Tobdl hiRIATT (TR 3 wfrer To1 &t ool &
SIESHIETIC (TIEI3T 3-) 3R FAREE (FTH-) & JTGTA-UGTT Dl TG AT Pl g |

18. If a rock is brought from the surface of the moon to the earth, then
I TGAT T Telg § Teh T hl g2l I o7 STl 8, A

A.
B

C.
D
°

its mass will change. /SHT gcIHTeT el SITUIT |
its weight will change but not its mass. /S8l dolel s el ST Wmacw of oAgr|
both mass and weight will change. /GedHTeT I AR QAT 7 gRad ?ITITI

. both mass and weight will remain the same. /GeIHTeT 3R HAR ST TATT G|

If a rock is brought from the surface of the moon to the earth, its weight will change but not its mass.

e, el TCeTeT T e T Sl Tlg & JLAT TR TN SITT &, oY SHeRT 3R S ol ST o fehe] 3HT
GSTHTA gl |

19. The velocity of heat radiation in vacuum is

fo¥aTe # FaAT fafnor shr Jar g & -

A.
B.
C.
D.

Sol-

Equal to that of light/ ¥eRTRT & d9T & ST&X
Less than that of light/ JehTeT & d9T & e
Greater than that of light/ JehTel & 39T & 31&H
Equal to that of sound/ &afel & J9T o ST}

Electrons are generally responsible for heat conduction. The phonons (vibrations of the nuclei) also
play a part, depending on the temperature of the medium.

It depends on the specific conductor you’re using.

At some point, in a vacuum, the electrons have to be excited enough to spit out photons, which are
Electromagnetic radiation, which in a vacuum should go on forever at the speed of light theoretically.
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o Soleciel AN T FAT UTelel & Tt TSIFAGR @ & | ATETH & ATIHTT o TR 9T Blelel
(FTTRR o eT) 811 Ueh ${fART HATT B |

o g 37U GaRT 39T fhT 17 Ig fafRIse FHzgFex W R Fxar g

o 5o g W, vs fFdTa #, geeeiar I vrels i arel e & fow gicd &u & 3afsrd ge
ISl 8, S foh Teg el goeehrg fafeheor 8, Sit Teh fovalier 7 Aetrifcreh §9 & Fehrer i aTfel & g &
foIT =TT g1 =g e

20. A boy pushes a book by applying a force of 40 N. Find the work done by this force as the book is displaced
through 25 cm along the path.

Teh STSHT 40 N & el & Teh T&cleh i UFehl & & | S el @R fohT a1 &1 g1 I qcieh Y Il A

25 QY forafa frar s &
a) 107
b) 127
c) 1000J
d) 12J

Solution. Here, force acting on the book/J&deh U ofdTIAT ITAT &ef, F =40 N
Distance/E;\ff, s=25cm=0.25m

Work done by the force/seT a1 AT IRTFR, W=F x s

= (40N) (0.25)
~107J

21. Which one of the following is NOT correctly matched? faff@adasaar F@' ﬂﬁﬁﬁ Fl@' %}7
(a) Penicillin - Alexander Fleming /AffaTeleT - 3reldaist welfHaT
(b) Electric bulb —Thomas alva Edison /Solfd¢eh dod - ATHT 3TedT Tad
(¢) Smallpox Vaccine — Edward Jenner /Tdh 3T EIhT - USdS Siel}
(d) Telephone — John Logie Baird/ZelhIe - STl olI9l I8

e Inventions Inventors

o Telephone — Graham Bell
Television- John Logie Baird
Penicillin - Alexander Fleming
Electric bulb- Thomas Alva Edison
Small Pox- Edward Jenner
Computer - Charles Babbage

O O O O O

22. Choose the correct sequence of electrical resistivity of metals.
ETI31T T Tt TR T TEY he el |
(a) Ag>Ni>Hg>W
(b) He>Ni>W>Ag
(c) Ag>W>Ni>Hg
(d) Ag>W>Hg>Ni
e Resistivity is the property of a substance that resist the electric current by that substance.

o SfeRYERAT R 9aTe T 3 T[T ¥ S 37 JaTe GarT e eRT T 9faRi S |
23. Diabetes is usually the result of: / H‘{]ﬁ%’&l’ﬂ:l?ﬁ?' WWW@W%
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(a) Low insulin secretion / shdH Qﬂﬁ?{ ard
(b) Low thyroxine secretion / e ARRITFHT AT
(c) Low estrogen secretion / hd UQ—_@IGIFT pelE)

(d) None of these / STH & PIg AgT

Insulin deficiency is primarily the cause of type 1 diabetes.
e It occurs when insulin-producing cells become damaged or destroyed and stop producing insulin.
e Insulin is needed to move blood sugar throughout the body.

o SHIoIT T Al HTT &I A TS | HYAT HT HROTE |

o TG A BT § ST SHfoIeT 3cUIGeh HITAAIT &TTTIEd AT S &1 ST & 3N SHToleT T ScdTeeT a6 T
e gl

o TR I T A Y FAAAR Ftot 3 ForT SHIAT ¥ Jaearanmll Sl 81

24. The correct increasing order of acidity of the oxide of Mn is -

Mn & 3TFETSS ST 3TFelclT T LT G g7 heA & -

(2) MnO < MnO2 < Mn207

(b) MnO2 > MnO > Mn207

(c) Mn20O7 > MnO2 > MnO

(d) MnO2 > Mn207 > MnO

e The correct increasing order of acidity of the oxide of Mn isMnO < MnO2 < Mn207

e Mn & 3iTFATES FI 3FAdT T TET 6T el MnO < MnO2 < Mn207 §

25. In which animal reproduction takes place by budding?/HeleT CaRT Slefed fraa grar &7
(a) Yeast/JET

(b) Penicillium/ AT faferas
(c) Paramecium/SRTeITRIZ
(d) All of these/3=T3T & T
e Binary fission is found in unicellular organisms like Amoeba, Paramecium and Euglena. Budding is
found in yeast and Hydra.
o GIA3TURY (aTSe) fawse refter, RTATRIGA 3R Foollalr S AR Sirat 7 9rm ST g
Hepelol AEco 3R GISZT H TRAT AT & |
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